BID TAB							
BID NUMBER/QUOTE #: 21ITBC000030A-CJC							
BID DESCRIPTION: WATER METER BOXES AND VALVE BOXES REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORKS							
				VE	NDOR NAME		
				Fergus			
			L				
21ITBC000030A-CJC, WATER METER BOXES AND VALVE BO	XES						
			TELEPHONE:				
				C			
				Ľ			
	UNIT	QTY	UNIT	\$	TOTAL		
East Jordan Iron Works MFG# 06800001A01 Cast iron valve box 5							
/₄" barrel 27"-37" extension & cover (or equivalent)	Each	40	\$	238.70	\$ 9,548.00		
East Jordan Iron Works MFG# 85502218 Cast iron valve box 5 ¼"							
parrel 39"-60" extension & cover <i>(or equivalent)</i>	Each	5	\$	341.62	\$ 1,708.10		
East Jordan Iron Works MFG# E85558008 16.5" Slip Type Self							
Leveling Riser <i>(or equivalent)</i>	Each	10	\$	169.36	\$ 1,693.60		
East Jordan Iron Works MFG# 06800045U Cast Iron valve box lid labeled			•	50.00			
water" heavy duty. for bid items #1 & 2 (or equivalent)	Each	20	\$	59.60	\$ 1,192.00		
East Jordan Iron Works MFG# E85008011 1 inch Valve Box	F aab	0.4	¢	FF 40	*		
Adjustment Rings with set screws (or equivalent)	Each	34	\$	55.12	\$ 1,874.08		
East Jordan Iron Works MFG# E85008016 1 ½" Valve Box	Each	30	¢	60.70	¢ 1 994 60		
Adjustment Rings with set screws (or equivalent) East Jordan Iron Works MFG# E85008021 2" Valve Box Adjustment	Each	- 30	\$	62.72	\$ 1,881.60		
Rings with Set Screws (or equivalent)	Each	30	\$	68.42	¢ 2,052,60		
DFW Meter Box Model 1219SL-18-1MQF DEEP (or equivalent)	Each	295	ֆ \$	112.80	· · · · ·		
Standard Meter Box lid only for bid item 8 above	Each	30	\$ \$	43.74	· · · · · · · · · · · · · · · · · · ·		
Stretch Yoke Box Lid only	Each	4	\$	31.82	+ ·) = · = = -		
Ford Meter Box Model# LDG228-243-TT NL Inlet 1" Angle Flare Copper	Laun	+	Ψ	51.02	ψ 121.20		
Outlet $\frac{3}{4}$ " MIP with locking Lid (or equivalent)	Each	3	\$	446.50	\$ 1,339.50		
CDR Model# WB00243618 Composite meter box, 24" x 36" x		†	*		+ 1,000,000		
18", 2 mouse holes, one in each end with AMR Lid & Water nameplate							
(or equivalent)	Each	25	\$	729.58	\$ 18,239.50		
CDR Model# WC002436 Composite AMR cover for meter box in bid		1					
tem 12. above (24" x 36" x 18") (or equivalent)	Each	2	\$	325.80	\$ 651.60		
		·					
GRAND TOTAL:					\$74,896.06		
BIDS MAILED			BUDGETED AMOUNT: \$75,000.00				
BIDS RECEIVED: NO-BIDS:							

Renewal year price increase(s) in this contract, if exercised by Fulton County, shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the

Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.

BID NUMBER/QUOTE #: 21ITBC000030A-CJC

BID	DESCRIP	TION: WATER	R METER	BOXES A	ND VAL	VE BOXE	S
REC	JUESTING	DEPARTME	NT: DEP	ARTMENT		BLIC WOR	KS

REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORKS			_					
					VENDOR NAME			
		Ferguson Waterworks						
					ADDRESS			
21ITBC000030A-CJC, WATER METER BOXES AND VALVE BO	XES							
					TELEPHONE:			
					CONTACT:			
		1						
	UNIT	QTY	UNIT	\$	TOTAL			
East Jordan Iron Works MFG# 06800001A01 Cast iron valve box 5	_							
¹ / ₄ " barrel 27"-37" extension & cover (or equivalent)	Each	100	\$	238.70	\$	23,870.00		
East Jordan Iron Works MFG# 85502218 Cast iron valve box 5 ¼"					•			
barrel 39"-60" extension & cover (or equivalent)	Each	10	\$	341.62	\$	3,416.20		
East Jordan Iron Works MFG# E85558008 16.5" Slip Type Self Leveling	–		^	400.00	•			
Riser (or equivalent)	Each	20	\$	169.36	\$	3,387.20		
East Jordan Iron Works MFG# 06800045U Cast Iron valve box lid labeled	Fach	25	¢	50.60	¢	2 096 00		
"water" heavy duty. for bid items #1 & 2 (or equivalent)	Each	35	\$	59.60	Þ	2,086.00		
East Jordan Iron Works MFG# E85008011 1 inch Valve Box Adjustment Rings with set screws (or equivalent)	Each	150	\$	55.12	¢	0 260 00		
East Jordan Iron Works MFG# E85008016 1 ¹ / ₂ " Valve Box	Each	150	φ	55.TZ	Ф	8,268.00		
Adjustment Rings with set screws (or equivalent)	Each	100	\$	62.72	¢	6,272.00		
East Jordan Iron Works MFG# E85008021 2" Valve Box Adjustment	Lach	100	Ψ	02.12	Ψ	0,272.00		
Rings with Set Screws (or equivalent)	Each	100	\$	68.42	\$	6,842.00		
DFW Meter Box Model 1219SL-18-1MQF DEEP (or equivalent)	Each	515	\$	112.80		58,092.00		
Standard Meter Box lid only for bid item 8 above	Each	100	\$	43.74	•	4,374.00		
Stretch Yoke Box Lid only	Each	20	\$	31.82		636.40		
Ford Meter Box Model# LDG228-243-TT NL Inlet 1" Angle Flare Copper			+		- -			
Outlet ³ / ₄ " MIP with locking Lid (or equivalent)	Each	20	\$	446.50	\$	8,930.00		
CDR Model# WB00243618 Composite meter box, 24" x 36" x						•		
18", 2 mouse holes, one in each end with AMR Lid & Water nameplate								
(or equivalent)	Each	20	\$	729.58	\$	14,591.60		
CDR Model# WC002436 Composite AMR cover for meter box in bid								
item 12. above (24" x 36" x 18") (or equivalent)	Each	20	\$	325.80	\$	6,516.00		

GRAND TOTAL:	\$147,281.40
BIDS MAILED	BUDGETED AMOUNT: \$75,000.00
BIDS RECEIVED:	NO-BIDS:

Renewal year price increase(s) in this contract, if exercised by Fulton County, shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.

